## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving to add 1 Eligible Adult Members to the Adult Master List for Payment for the Fourth Per Capita)

RESOLUTION NO. 09-620

	II .	
1	WHEREAS,	on June 28, 1997, the Nation's voters approved Initiative No. IN-01-97, the "Tohono
2		O'odham Voice in the Use of Gaming Revenues" ("Initiative"), which authorizes per
3		capita payments to the Nation's members provided that sufficient gaming revenues
4		are available; and
5	WHEREAS,	the Ordinance for the Regulation of Gaming Activities within the Tohono O'odham
6	ŀ	Nation ("Gaming Ordinance") was subsequently amended to authorize per capita
7		distribution payments in accordance with the Initiative (Legislative Council
8		Resolution No. 97-303); and
9	WHEREAS,	the Legislative Council did adopt the Fourth Per Capita Revenue Allocation Plan per
10		Legislative Council Resolution No. 09-164; and
11	WHEREAS,	the Secretary of the Department of the Interior did approve the Fourth Per Capita
12		Revenue Allocation Plan on June 15, 2009; and
13	WHEREAS,	the Enrollment Program has submitted to the Tohono O'odham Legislative Council
14		the Certification Listing for eligible adult members for review and approval for the
15		fourth per capita distribution; and
16	WHEREAS,	pursuant to Resolution No. 09-428 which approved the Master List for certification,
17		the initial number of verified adult eligible members for the fourth per capita
18		distribution is 19,141; and
19	WHEREAS,	the Enrollment Program has identified 1 eligible adult members who was left off the
20		Adult Master Listing for the Fourth Per Capita Payment; and
21	WHEREAS,	the disbursement of funds to each eligible adult member is contingent upon
22		$verification\ of a\ member\ and\ further\ certification\ by\ the\ Tohono\ O'odham\ Legislative$
23		Council.
24	NOW, THE	REFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council hereby
25		approves to add the attached list of 1 eligible adult members whose names were left
26		off the Adult Master List and such names will be incorporated into the Adult Master
27		Listing previously approved by the TohonoO'odhamLegislativeCouncilinResolution
28		No. 09-428.
29	BE IT FURT	HER RESOLVED that any eligible names identified in the future will be added to the
30		Adult Master List contingent on verification and certification by the Tohono O'odham
31		Legislative Council.
32		

	RESOLUTION NO. <u>09-620</u> (Approving to add 1 Eligible Adult Members to Capita) Page 2 of 3	the Adult Master List for Payment for the Fourth Pe
1 2 3 4 5 6 7	of <u>DECEMBER</u> , <u>2009</u> at a meeting at which a q AGAINST; <u>-0-NOT VOTING</u> ; and <u>277.0[08]</u> ABSE Article IV, Section 1 (d)(2)of the Constitution Tohono O'Odham Nation on January 18, 19 Secretary - Indian Affairs (Operations) on Mar 18, 1934 (48 Stat. 984).	hono O'odham Legislative Council on the <u>07<sup>TH</sup></u> . Day norum was present with a vote of <u>2,318.50</u> FOR; <u>-0</u> NT, pursuant to the powers vested in the Council by n of the Tohono O'Odham Nation, adopted by the B6; and approved by the Acting Deputy Assistant ch 6, 1986, pursuant to Section 16 of the Act of June
8 9	_ <b>  </b>	NO O'ODHAM LEGISLATIVE COUNCIL
	10 N	TO O ODNAM LEGISLATIVE COUNCIL
12	$\begin{array}{c c} 11 \\ 12 \end{array}$	Larba De
	Verlo	n M. Jose, Legislotive Chairman
	14   16   16   16   16   16   16   16	n M. Jose, Legislotive Chairman
	16 ATTEST:	, 2003
	17	
	18 ////////////////////////////////////	
	20 Evonne Wilson, Legislative Secretary	
	)1	
22	22 7 day of <u>Leemhh</u> , 2009.	
25 26 27	Nation on the barrier day of person of Artic	the office of the Chairman of the Tohono O'Odham , 2009 at <u>\$ 00</u> o'clock,
	29	
	li de la companya de	NO <b>9'ODHAM LEGISLATIVE COUNCIL</b>
	31	
	32	291 May (2)
34	- II	1 M. Jose, Legislative Chairman
35	35	V
- 1	36	
1	37   88  [Y] APPROVED on the	7 day of December, 2009
	on the _	
		oʻçloçk, <u>P</u> .M.
1		
		11 1
	NED NO	RIS IR., CHAIRMAN
5	II Y	O'ODHAM NATION
		CHONLMAN

				1-7		
Ret	urned to the I	egislative Se	cretary on the	e day of	f	
1	licember	, 2009, a	t <u>3:59</u> o'c	elock, <i>P</i> .M.		
	Jumsell Ill	7				
	nne Wilson, L			<del></del>		
LVU	mie wison, L	egislative set	leury			

ACTION: APPROVING TO ADD 6 ELIGIBLE ADULT MEMBERS TO THE ADULT MASTER LIST FOR PAYMENT FOR THE

FOURTH PER CAPITA

MOVED: COUNCILWOMAN OLIVIA VILLEGAS-LISTON SECOND: COUNCILWOMAN MICHELLE ORTEGA

DATE: DECEMBER 07, 2009

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK	1. WAVALENE ROMERO (Nicholas Jose)	99.35	X			Х
198.7	2. MARY LOPEZ ( )	99.35	X			
SELLS	1. KIMBERLY LISTO	224.80	Х			
449.6	2. EVELYN B. JUAN MANUEL	224.80	X			
SCHUK TOAK	1. FRANCES B. CONDE	79.50	X			
159.0	(Fredrick Jose) 2. LINDA PARLEY (Agnes Joaquin)	79.50	Х			
SAN XAVIER	1. FELICIA NUÑEZ	102.35	X			
204.7	2. OLIVIA VILLEGAS-LISTON (Eugene Enis)	102.35	X			
SAN LUCY	LORRAINE EILER     (Charlotte Cadavas)	93.55	x			x
187.1	2. GLORIA RAMIREZ	93.55	X			
PISINEMO	1. CHESTER ANTONE (Absent)	92.25	х			
184.5	(Tony Murrietta)(Present) 2. EDWARD MANUEL (Gerald Fayuant)	92.25	Х			
HICKIWAN	1. MICHELLE ORTEGA	87.25	X			
174.5	2. SANDRA ORTEGA	87.25	X			х
GU VO	1. GRACE MANUEL	103.15	Х			х
206.3	2. PAMELA ANGHILL (Angela Ortiz)	103.15	Х			
GU ACHI	1. TIMOTHY L. JOAQUIN	115.05	х			
230.1	2. CYNTHIA E. MANUEL (Louis J. Johnson)	115.05	Х			Х
CHUKUT KUK	1. ETHEL GARCIA	138.50				x
277.0	(Sara Mae Williams) 2. VERLON M. JOSE ( )	138.50				Х
BABOQUIVARI	1. FRANCES MIGUEL	162.0	x			х
324.0	(Roberta Harvey) 2. FRANCES G. ANTONE (Vernon Smith)	162.0	X			
<del></del> :	TOTAL	2,595.50	2,318.50	-0-	-0-	277.0 [08]